1-4

http://coconut.sys.eng.shizuoka.ac.jp/data/

2005.10.19

0.71

0.36

10

No

|

O0000||00000




2 Excel

|00

1.
No
1 51 16 3.0 2. , :
2 38 4 3.2 3. 70m2, 10 , 5.8
3 57 16 3.3
4 51 11 3.9
5 53 4 4.4 1
6 77 2 4.5
7 63 5 4.5 =1.02+0.0668 x  -0.0808 x
8 69 5 5.4
9 72 2 5.4 2. 0.933 .
10 73 1 6.0 3. =70, =10 . =489
5.8




2-1 1 (x) )
1 (162 ]24.0
2 || 165 | 24.5
3 1168 [ 25.5
4 1160 |22.5
5 11158 [23.0
6 || 153 [22.0
7 | 158 | 23.0
8 | 168 |24.0
9 | 157 [23.0
26.0
255 .
250 | . ¢
245 . .
20 ¢ ¢
235 . Y
230 X2 . ‘e
225 . D
220 *
215
150 155 160 165 170 175 150 155 160 165 170 175
26.0
255 .
250
245
240
235
ool y = 0.1589x - 19801
20 F ¢
215 215
150 155 160 165 170 175 150 155 160 165 170 175




y:a+bx ...... (1) 1 Xlx yly
2 Xo Yo
%FT CR .
n . "
—(a+bx) Q
- Q= " & =" {yi—(a+bx)f
y (% %) |
a+bx ‘i ) y =a+bx dah) a’b
Xi (a,b) a b
> {yi —(a+bx)}=0,
oQ n i=1
A~ Z (a+b)(|)} n
@ i Y % {yi - (a+bx)}=0
n i=1
—Q Z . —(a+bx)}=0




Sy - (a+bx))

=Y xdyi — (Y -bR+bx)}
=3 %% - 9) - b(x - %)}
+>0 &% - ¥)-b(x %))
=3 (5 =Ry - 9)-b(x - )}

i=1 Ry
b:ﬁ y=a+bx

fxx N ‘ X %b’ y
a=Yy-bx —)

» Excel




